MODEL.: 61625 EDITION: A
HARDWARE LIST: STEP 1 o @
(M8*40 Qg 6PCS)
PACKAGE |DESCRIPTION PART PHOTO | QTY | [ PACKAGE |DESCRIPTION PART PHOTO | QTY @
SCREW ALLEN KEY 1PC I ?5 1PC)
(M6*16) %  |secs " (@5) ~ | (
SCREW | @,
(M8*40) 12PCS |
TAPPING w cs
SCREWS 2P
M4*16 |~‘
METAL PART )
o | e 4pcs .| .
EXPANSION
RuBEERPLUG | &Y |2PCS ‘ A
Qé*fgo
TAPPING
SCREWS “wmg  |2PCS ~
M4*40
WALL FIXING @ 2PCS N
ALLEN KEY
o AL | PC
PART LIST : 7
STEP 2 wun @,
PACKAGE |DESCRIPTION PARTPHOTO | QTY | [ PACKAGE |DESCRIPTION PART PHOTO | QTY (M8*40 g 6PCS)
TOP BOARD & 1PC
BOTTOM
BOARD & 1PC
ADJUST
SHELF y 4PCS
11
SIDE FRAME %é 2PCS
MIDDLE
SIDE FRAME % 1PCS
CONNECTING
SR 2PCS
HARDWARE @ 1PC

PAGE: 1/3



MODEL: 61625 Assembly Instruction EDITION: A
STEP 3 m Me6 @@  5PCS)

(p6*30 & 2PCS)
(13*13*13 2PCS)

(M4*40 g 2PCS)

STEP 4 (@416 Qg 2PCS)

AN
AN
>
i~

PAGE: 2/3



A

EDITION:

( O 2PCS)

MODEL: 61625

STEP 7

FINISH

PAGE: 3/3




